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29.9       1)   

Καταρχήν πρέπει x 0  . Με τον περιορισμό αυτό θέτουμε y logx  και έχουμε 
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29.9       2)   

Κατ΄ αρχήν πρέπει  x 0 . 

Με τον περιορισμό αυτό θέτουμε  y logx  και έχουμε : 
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29.9       3)   

Κατ΄ αρχήν πρέπει  x 0 . 

Με τον περιορισμό αυτό θέτουμε  y lnx  και έχουμε : 
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29.9       4)   

Κατ΄ αρχήν πρέπει  x 0 . 

Με τον περιορισμό αυτό θέτουμε  y logx  και έχουμε : 
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29.9       5)   

Κατ΄ αρχήν πρέπει  x 0 . 

Με τον περιορισμό αυτό θέτουμε  y logx  και έχουμε : 
y logx
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29.9       6)   

Κατ΄ αρχήν πρέπει  x 0 . 

Με τον περιορισμό αυτό θέτουμε  y logx  και έχουμε : 
y logx
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29.9       7)   

Κατ΄ αρχήν πρέπει  x 0 . 

Με τον περιορισμό αυτό θέτουμε  y logx  και έχουμε : 
y logx
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